(6) ERERALBROEEHER
A PR CR2/ B S I LR/ T S
5% 1 RERER %1 Gk ER
R | Bt E A OB
M BRERC| & TERER | R IE R
TR et TR | Bk
A B C D E B/A| C/B|D/C| E/B |B/E
A A A A A % % % % &
A (B 1,191 955 745 668 258  80.2 78.0 89.7 27.0 3.7
} A (Ze) 318 252 185 164 721 79.2 73.4 88. 6 28. 6 3.5
Eﬁ B (51) 1,387 1, 164 707 634 143]  83.9 60. 7 89. 7 12.3 8.1
?? B (&) 388 316 209 191 38| 81.4 66. 1 91.4 12.0 8.3
N iRt A (Z) 3 3 3 3 3| 100.0 | 100.0 | 100.0 | 100.0 1.0
firEt A (FE) 4 4 4 4 2| 100.0 | 100.0 | 100.0 50. 0 2.0
G 3, 291 2, 694 1,853 1,664 516  81.9 68. 8 89. 8 19.2 5.2
A (F) 785 446 350 301 83] 56.8 78.5 86.0 18.6 5.4
A (Zhh) 260 172 136 102 31| 66.2 79.1 75.0 18.0 5.5
B () 803 553 443 418 139]  68.9 80. 1 94. 4 25. 1 4.0
IR B (&) 247 164 134 122 36| 66.4 81.7 91.0 22.0 4.6
;; Wikt A (Gi8) 2 1 1 1 1 50.0 | 100.0 100.0 100.0 1.0
l% MRt A (HIE) 0 - - - - - - - - -
iE B (Fead) 1 1 0 - -l 100.0 0.0 - - -
firEL B (#E) 1 0 - - - 0.0 - - - -
Ft 2, 099 1,337 1, 064 944 290  63.7 79.6 88.7 21.7 4.6
A () 1,985 1, 409 1,103 977 347 71.0 78.3 88. 6 24. 6 4.1
= B (B 2, 190 1,717 1,150] 1,052 282  78.4 67.0 91.5 16. 4 6.1
2 A (Fth) 578 424 321 266 103]  73.4 75.7 82.9 24.3 4.1
Gl B (&) 637 481 343 313 74|  75.5 71.3 91.3 15.4 6.5
B g 5, 390 4,031 2,917 2,608 806|  74.8 72.4 89. 4 20. 0 5.0
I A (B — 90 24 10 5 — 26. 7 41.7 5.6 | 18.0
il B () — 305 138 99 39 — 45. 2 71.7 12.8 7.8
B i — 395 162 109 44 — 41.0 67.3 11.1 9.0
" A () 1,985 1, 499 1,127 987 352 — 75. 2 87.6 23.5 4.3
. B (1) 2,190 2,022 1,288 1,151 321 — 63.7 89. 4 15.9 6.3
= A (ZhE) 578 424 321 266 103 — 75. 7 82.9 24.3 4.1
B B (%) 637 481 343 313 74 — 71.3 91.3 15. 4 6.5
: it 5, 390 4, 426 3,079 2,717 850 — 69. 6 88. 2 19.2 5.2

(E1) BRAEEH BEsHRoA () . A kfh) B (1) . B (k) Kaoidmszate,
(E2) BSLERBROF 1 KBRS BRE LT, HIAE D ) HMREKE Z RV IZZBRE DRt 2R,



	R3

